December 15, 2016

" St 33
Adding Polynomials
Day 2

DAdd the following: ( Show your work)
(72 -15b+ 11) + (-2B - 5b + 6)
b ASb il -3 - Sb+ @
T - 3>~ (S - “Sph4 Ul tL
b = a0b + 17
Represent the following in tiles, then simplify.

) (-3x2+4x -7)+ (x2-7x +3)

I.mt nlght.r

ﬂny Ouethont?. 2
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3 (b)MUST USE ALGEBRA TILES
4) MUST USE ALGEBRA TILES
5) NO algebra tiles (a,d)

6

8

9

Worksheet Questions 7-12
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3. Write the polynomial sum modelled by each
set of tiles.

U

4. Explain how to use algebra tiles to
determine (3x* + 2) + (x* — 1).
What is the sum?

6. Add these polynomials. Visualize algebra

tiles if it helps.
a) 2x+4 h) 3xA\+ 5x ) 3x+ 5x+ 7
_ AN -
+3x -5 +1—2x sx + —8x 3x+5

5x -1 X2 - 3x -5x2+ 2x + 12
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8. Use a personal strategy to add.
ay (6x+ 3) + (3x+ 4) =9x+7
hy (56 — 4) + (26 + 9) =7b+5
¢y (6 —3y) +(—3 — 2y)=-5y+3
dy(—n+7)+(3n— 2)=2n+5
e} (—4s —D5) + (6 — 35) =-7s+1
fy (1 —7h)+(—7h— 1) =-14n
gy (8m + 4+ (=9 + 3m) =11m-5
hy (—8m — 4) + (9 — 3m) =-11m+5

9. Add. Which strategy did you use each time?
a) (dm* + 4m — 5+ (2m? —2m+ 1) =6m2+2m-4
by (3k? — 3k +2) +(—3k — 3k + 2)=6k+4
O (~7p = 3) + (P +5) =p-Tp+2
d) (9 —38) + (9t + 382 — 68) =32+ 9
&) (3a? — 2x + 3) + (2 +4)=5x-2x+7
i (3x? — 7x 4+ 5) + (6x — 6x* + 8) =-3x2-x+13
g) (6 — 7x + x¥) + (6x — 6x2 + 10)=-5x2 x + 16
hy (1 —=3r+ )+ (4r+5—3r") =2r+r+6
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22. Write a polynomial for the perimeter of this
shape. Simplify the polynomial.

o P =Xty e2n 2y
y ) L(’(XJr(Og)

X

3y

2y

Determining a Polynomial for the perimeter of a rectangle

a) Write a polynomial for the perimeter of this rectangle.
Simplify the polynomial.

5x+ 3

4x + 14 4

Perimeter = the sum of all sides
=(@4x+1)+ @4x+1)+(bx+3)+ (bx+3)
=4x+1+4x+1+5x+3+5x+3
“~— o U LU-— U<
=4X+4X +5x+5x+1+1+3+3

=18x + 8

The perimeter is 18x + 8.
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Adding Polynomials in Two Variables

Add:¢382 +s-4c-5cs + 232%//}-502 + 3cs + 6¢c-4s + 702}

Remove Brackets.

= 3g2 2 . B2 2
\,313, 4 252 - 5¢ 6c} 4s+ 7c
Group like terms. q\ T

=382+ 252+ s -4s-4c+ 6C-5cs + 3cs-52 + 7¢2

Combine like terms.

=582-3s+ 2c- 2cs + 2¢?

Create a Polynomial that
adds to give 4x2 +6x -4 (M%\

When given:
-2X2 +2X -6
+ (i)(l FYY 4

o

Wyt t (XY
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Create a Polynomial that
adds to give -x2-3x + 8 KO(I\\S

When given:
-IX2+4x -5
" - A5
" - 5% v g
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#10 a(i, iii)
#11a,c
#12
#14
#15ace
#16a
#17ac
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